
RITCHIE BLACKMORE STRAT (0139010305)

COPYRIGHT - 2011 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 1 of 5

Aug 26, 2011 - Rev. A

PARTS LAYOUT

M
A

D
E

 IN
 M

E
X

IC
O

700000
M

SZ
NUMBER
SERIAL

R

FEN

M
IC

NE
AD

PA
T.

35
5

D
ER

CK JU

ST

04
96

RO
-

-

VOLUME

1

2 3
4

5
6

9

10

7
8

7

4

TONE
01

2

1

3

9 8

6
5

7

4

TONE
01

2

1

3

9 8

6
5

FEN
DER

FENDER FEN
DER

FENDER FEN
DER

FENDER FEN
DER

FENDER FEN
DER

FENDER FEN
DER

FENDER

5

43

876

2

1

9

10

11

12

29

13

15

20

24

14

1716

15 1716
18

21
22

2322

252422

272622
28

19

19

14

3130 32 33
34

34

35

http://www.fender.com
http://www.fender.com/
http://www.fender.com/


RITCHIE BLACKMORE STRAT (0139010305)

COPYRIGHT - 2011 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 2 of 5

Aug 26, 2011 - Rev. A

PARTS LIST

REF# DESCRIPTION PART 
NUMBER

1 BODY BLACKMORE SIGNATURE STRAT OLYMPIC WHITE 0075493505
2 NECK BLACKMORE SIGNATURE STRAT 0075494000
3 KEY 70’S F SHORT POST NOS RH 0990822100
4 BUSHING FOR KEY 0990822100
5 SCREW SMAB 3 X 3/8 RHP NI 0011357049
6 STRING GUIDE NICKEL 0994910000
7 SPACER STRING TREE 62 STRAT 0020423000
8 SCREW SMA 3 X 5/8 RHP NI 0011358049
9 NECK PLATE 3BOLT TILT CHROME 0054525000
10 SCREW SMA 8 X 1-3/4 OHP NI 0015636049
11 BOLT ADJUST 1/4-28 X 1-9/16 0012156000
12 SCREW ST HEX OV PT 10-32 X 1/2 0020972049
13 PICKGUARD 70’S STRAT WBW 0054622002
14 SCREW SMAB 4 X 1/2 OHP NI 0015578049
15 VOLUME / TONE KNOBS BLACK STRAT 0991365000
*16 NUT HEX 3/8-32 X 3/32 TK NI 0016352049
*17 WASHER LOCKING INTL 3/8 X .687 X .065 0016436049
*18 CAPACITOR .05UF 100V 20% 0015552049
*19 CONTROL 250K 10% TPR SPLIT 0990830000
20 PICKUP SWITCH KNOB BLACK 0992041000
21 3 WAY SWITCH LEVER GRIGSBY 0992041000
22 SCREW M 6-32 X 5/8 OHP NI 0015776049
23 PICKUP DUNCAN QUARTER POUND SSL-4 0075497000
*24 TUBING LATEX CUT .550 X 1/8 0039410000
25 PICKUP DUNCAN QUARTER POUND SSL-4 RW/RP 0077890000
26 CORE MOLDED STRAT 0016730000
*27 TUBING LATEX CUT .375 X 1/8ID X 1/4OD 0036878000
28 PICKUP COVER BLACK STRAT 0991364000
29 BRIDGE ASSY VINT STRAT 0054619000
30 JACK PHONE 1/4 OUTPUT 0047329049
31 FERRULE JACK CHROME 0991940100
32 WASHER LOCKING INTL 3/8 X .687 X .065 NI 0016436049
33 NUT HEX 3/8-32 X 3/32 TK NI 0016352049
34 STRAPLOK-DUNLOP FLUSHMOUNT NI 0075499000
35 NUT STD FRETBOARD BLANK BLACK 0075498000
* OWNERS MANUAL GUITAR/ BASS 0037723000

NOT PICTURED IN DIAGRAM* =

http://www.fender.com
http://www.fender.com/
http://www.fender.com/


RITCHIE BLACKMORE STRAT (0139010305)

COPYRIGHT - 2011 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 3 of 5

Aug 26, 2011 - Rev. A

PARTS LIST

REF# DESCRIPTION PART 
NUMBER

* WRENCH .050 HEX KEY SHORT ARM 0018531049
* WRENCH 3/32 HEX KEY SHORT ARM 0018622000
* WRENCH 1/8 X 1-1/4 X 2-3/4 HEX 0023811049
* DELUXE GIG BAG ELECTRIC GUITAR 0991512000
* TREMOLO ARM VINT 0992310100
* KNOB TREMOLO BLACK 0053083000

NOT PICTURED IN DIAGRAM* =

http://www.fender.com
http://www.fender.com/
http://www.fender.com/


016730

4 R

4 R

BRIDGE
PICKUP 

NECK
PICKUP 

DUMMY
PICKUP 

WHITE WIRE TO 
HOT TERMINAL

 OF OUTPUT JACK

BLACK WIRE TO 
GROUND TERMINAL
 OF OUTPUT JACK

BLACK WIRE TO 
SPRING CLAW

BARE WIRES

TONE 1
CONTROL

TONE 2
CONTROL

MASTER 
VOLUME

3 POSITION
 SWITCH 

CAPACITOR
.05UF 100V 20%

SHIELDING 

RITCHIE BLACKMORE STRAT (0139010305)

COPYRIGHT - 2011 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 4 of 5

Aug 26, 2011 - Rev. A

WIRING ASSEMBLY

http://www.fender.com
http://www.fender.com/
http://www.fender.com/


3 WAY SWITCH POSITION

3 WAY SWITCH

POSITION 

CONTROL

NECK PICKUP (A)

BRIDGE PICKUP (B)

1 2 3

PICKUP IS ON

OF 3 WAY SWITCH
INDICATES POSITION

PICKUP IS OFF

PICKUP (NECK)

PICKUP(BRIDGE)

A

MASTER
VOL  

B

TONE CONTROLTONE 2
TONE 
1 & 2 TONE 1

1

MASTER
VOL  

MASTER
VOL  

VOLUME

1

2 3
4

5
6

9

10

7
8

7

4

TONE
01

2

1

3

9 8

6
5

7

4

TONE
01

2

1

3

9 8

6
5

FEN
DER

FENDER FEN
DER

FENDER FEN
DER

FENDER FEN
DER

FENDER FEN
DER

FENDER FEN
DER

FENDER

TONE 1

A

MASTER VOLUME 

TONE 2

B 3 POSITION SWITCH

RITCHIE BLACKMORE STRAT (0139010305)

COPYRIGHT - 2011 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 5 of 5

Aug 26, 2011 - Rev. A

SWITCH AND CONTROL FUNCTION

http://www.fender.com
http://www.fender.com/
http://www.fender.com/

